

Cálculos combinados



$$(3 + 9) - 2 \times 3 =$$

$$\dots\dots\dots - \dots\dots\dots =$$

$$100 \times 2 - 30 : 6 =$$

$$\dots\dots\dots - \dots\dots\dots =$$

$$200 : 2 + 4 \times 5 + 24 =$$

$$\dots\dots\dots + \dots\dots\dots + 24 =$$

$$48 : 6 + 13 + 135 : 9 =$$

$$\dots\dots\dots + 13 + \dots\dots\dots =$$

$$4 \times 3 + 2 \times (4 - 2) + 4 =$$

$$\dots\dots\dots + 2 \times \dots\dots\dots + 4 =$$

$$\dots\dots\dots + \dots\dots\dots + 4 =$$

$$25 - (3 - 2) + (4 - 1) =$$

$$25 - \dots\dots\dots + \dots\dots\dots =$$

$$120 : 2 + 350 : 10 + 2 =$$

$$\dots\dots\dots + \dots\dots\dots + 2 =$$

$$240 : 4 + 160 : 8 - 6^2 =$$

$$\dots\dots\dots + \dots\dots\dots - \dots\dots\dots =$$

$$16 + (13 - 2^2) =$$

$$16 + (13 - \dots\dots\dots) =$$

$$16 + \dots\dots\dots =$$

$$100 : (20 + 5) + 8 \times 3 + 5 =$$

$$100 : \dots\dots\dots + \dots\dots\dots + 5 =$$

$$\dots\dots\dots + \dots\dots\dots + 5 =$$

$$4 \times 2^3 - 3 \times 3 + 5 \times (4 + 3) =$$

$$4 \times \dots\dots\dots - \dots\dots\dots + 5 \times \dots\dots\dots =$$

$$\dots\dots\dots - \dots\dots\dots + \dots\dots\dots =$$

$$(10 + 3 \times 2) : 4 + 7 =$$

$$(10 + \dots\dots\dots) : 4 + 7 =$$

$$\dots\dots\dots : 4 + 7 =$$

$$\dots\dots\dots + 7 =$$

$$\sqrt{16 + 9} + (2 + 3)^2 =$$

$$\sqrt{\dots\dots\dots + \dots\dots\dots} + \dots\dots\dots^2 =$$

$$\dots\dots\dots + \dots\dots\dots =$$

$$8^2 - \sqrt{100} - \sqrt{100} =$$

$$\dots\dots\dots - \dots\dots\dots - \dots\dots\dots =$$

$$12^2 + 2^6 - \sqrt[3]{8} =$$

$$\dots\dots\dots + \dots\dots\dots - \dots\dots\dots =$$

$$(12 : 3 + 1) \times 2 + (9 \times 2 - 15) \times 6 =$$

$$(\dots\dots\dots + 1) \times 2 + (\dots\dots\dots - 15) \times 6 =$$

$$\dots\dots\dots \times 2 + \dots\dots\dots \times 6 =$$

$$\dots\dots\dots + \dots\dots\dots =$$

$$\sqrt[2]{121} \times 3 + 6^2 - 5^2 + (3 \times 4)^2 =$$

$$\dots\dots\dots \times 3 + \dots\dots\dots - \dots\dots\dots + \dots\dots\dots^2 =$$

$$\dots\dots\dots + \dots\dots\dots - \dots\dots\dots + \dots\dots\dots =$$